run_13056026 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Sat Feb 25 08:15:09 2012
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run_13056026 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Sat Feb 25 08:15:12 2012
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run_13056026 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13056026 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB
Sat Feb 25 08:15:19 2012
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run_13056026 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Sat Feb 25 08:17:07 2012
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run_13056026 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13056026 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sat Feb 25 08:15:23 2012
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run_13056026 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13056026 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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Sat Feb 25 08:15:55 2012
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Sat Feb 25 08:17:17 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13056026 FGT_RMS 1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 25 08:17:51 2012

[ADC RMS for RDO=1,ARM=3,APV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=19 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13056026 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Sat Feb 25 08:15:57 2012

[ADC for FGT RDO=1,ARM=4,APV=0 }

ADC-ped

[ 1000 2000 3000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=1 }

ADC-ped

4000

i i i
1000 2000 3000 40

0
raw ADC
[ADC for FGT RDO=LARM=4APV=2 }
5
3 . g 5
[
Q
[a]
<
10
i i i
1000 2000 3000 4000
raw ADC
[ADC for FGT RDO=1,ARM=4,APV=3 }
5
3
[
)
[a]
<
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=1,ARM=4,APV=4 }
o
3
[
o
=]
<
2000 3000 4000
raw ADC

[[ADC for FGT

RDO=1,ARM=4,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=1 }
= 4000 p—
] = . . . . . .
5 = :
8 S = R B ° . i R
< = 2 8 2
3000 P=— == t----- Focgqesofpsosss =
= .
2500 f=— o= = st s e GEELCELE ELELE -
2000 fm— - - --t----- EEEEE P R -
= o
1500 = v|= s = np e s EEEE S EETY PR -
= 5
1000 f=— vf- - = e m s EEEEE EEE PR - :
= : H b
500 fm— ERS PR PPRED
= 8
[ e e B e R T RS
= . i . i i i i . i .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=4,APV=2 }
= 4000
] =
oy =
Q K = e o Rl R B R B o R B Rk B R e Rt R R R R R EECEEEE i EECEE TR BF B B
< =
3000 R |- f == e b el b bt e R BX R
=
P = e B R O e B e e e e e B B T PP R LR R TS FEE T O PP SRR BF B T
=
2000 SR e =q=pes
=
=W |E=gplei = olpecde8eq oo eoooeomoocpdbdpocococddpeoag|pf/scecacasacsoscacsdhqpossacsonsacscpepossagbgecacs peegpilegiefee
WD |Z5=9floi|=ofolpo=degeq oo eoooeo=o 0o pgeqpocacacddbeoag|pf/scecacasacsoscacsdhqpossacsonsanscpebossagbgeeans peegpylegiefee
=
500 fF— |- {- - b r e e bbb b e Locdkilllakas
=
= N R = - Si=T=-
s i i i i
20 40 6! 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=4,APV=3 }
= 4000
]
&
Q 3500
<

3000

2500 f=

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=4,APV=4

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13056026 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Sat Feb 25 08:17:18 2012

[ADC MPV for RDO=1ARM=4,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=2__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13056026 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA

Sat Feb 25 08:17:51 2012

[CADC RMS for RDO=1,ARM=4,APV=0_}

200 =
=

180

160 [

RMS (ADC-ped)

140 =
120
100 [
80
60

50 E

20

0

[ ADC RMS for RDO=1,ARM=4,APV=1 }

i
120
APV channel

120 |

100

RMS (ADC-ped)

80 |
60 |
40

20 [

[ ADC RMS for RDO=1,ARM=4,APV=2 "}

140

120

RMS (ADC-ped)

100

80

60

40

20

°TH|11'I'|'I'H|I1'I'|'I'I'I|II1'|'I'HII

i

i
100 120

0

[CADC RMS for RDO=1,ARM=4,APV=3__}

APV channel

120 [

100 [+

RMS (ADC-ped)

80 |
60 [+
40 |-

20

[ ADC RMS for RDO=1,ARM=4,APV=4 "}

i
120
APV channel

9%
=
80 =
=

70

RMS (ADC-ped)

60

50 E

40

30

20

10

0

APV channel




run_13056026 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sat Feb 25 08:16:00 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

in=2,Disc=

imeb

Sat Feb 25 08

run_13056026_FGT_MPV_1,T

19 2012

17:

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13056026 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Sat Feb 25 08:17:52 2012

[ADC RMS for RDO=1,ARM=4,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=4,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13056026 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB

Sat Feb 25 08:16:02 2012

ADC for FGT RDO=1,ARM=4,APV=12 _§

3000 4000
raw ADC

[ 1000 2000

ADC for FGT RDO=1ARM=4,APV=13 _§

ADC-ped

o

; 5
3000 4000
raw ADC

1 1
1000 2000

ADC for FGT RDO=1ARM=4,APV=14
—

1
3000 40(
raw ADC

1 1
1000 2000

S}

ADC for FGT RDO=1,ARM=4,APV=15

ADC-ped

3000 4000
raw ADC

1000 2000

ADC for FGT RDO=1,ARM=4,APV=16 _§

ADC-ped

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=12_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=13 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0f=—
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=4,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13056026 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 25 08:17:19 2012

[ADC MPV for RDO=1ARM=4,APV=12_}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13056026 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sat Feb 25 08:17:52 2012

[ADC RMS for RDO=1,ARM=4,APV=12__}

RMS (ADC-ped)

140 p——
120 f—

100

80 [+

60 o
nu
40 FH
20—
L=
'

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=13 "}

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=14 "}

RMS (ADC-ped)

60 [
50
40
30
20

10

N N i
20 40 60 80 100 120
APV channel

[CADC RMS for RDO=1,ARM=4,APV=15__}

RMS (ADC-ped)

70

60

—
50 |

40

30 B

20

10

0

i i
20 40 60 80 100 120
APV channel

| ADC RMS for RDO=1,ARM=4,APV=16 }

RMS (ADC-ped)

= T T
o :
60 o : :
--J-| o 5
e : :
u : :
50 F—H| 8 3
e ; :
45 : :
40 p— 2 .
30 f— g g
20 f— . :
10 f— . :
o = i - - - i - - - i - - - i - - - i - - - i
20 20 60 80 100 120

APV channel




run_13056026 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB

Sat Feb 25 08:16:05 2012

ADC for FGT RDO=1,ARM=4,APV=17

ADC-ped

[

3000 4000

raw ADC

ADC for FGT RDO=1,ARM=4,APV=18

ADC-ped

s
3000 40(
raw ADC

=4 APV=19

C-ped

=AD!
U

3000 40(
raw ADC

ADC for

FGT RDO=1ARM:

=4, APV=20

1000

2000

3000
raw ADC

ADC for FGT RDO=1,ARM=4,APV=21

ADC-ped

4000

0

1000

2000

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=17_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

]
J

0

N
NE-

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=18 "}
4000

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
i
=
0

" " 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=19 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

20 40 60 80 100 120
APV channel

[[ADC for FGT
4000

Py
]

O=1,ARM=4,APV=20 }

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

N
I
3
3

80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=21 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

]m |r|1|[|1|r|1|r|]rr|1|rm[|1|r|1rr|

0

aildENRTERIAGNATGRAARNAGRARRIATENATENATENAG]
=
5, 5,

APV channel




run_13056026 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 25 08:17:20 2012

[ADC MPV for RDO=1ARM=4,APV=17

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

120
APV channel

[ADC MPV for RDO=1,ARM=4,APV=19 _}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=4,APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
O 3
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=21 "}

MPV (ADC-ped)

1500

1000

500

-500

20 a0 0 a0 100 120
APV channel




run_13056026 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sat Feb 25 08:17:54 2012

[ADC RMS for RDO=1,ARM=4,APV=17 _}

RMS (ADC-ped)

H
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=18 "}

120

100

RMS (ADC-ped)

80

60

40

TTITTITTT 'I'H'|'H1'|'H'I'[I

20

1
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=19 |

s [—
@ 0 . 1
G A e R R i i i i i i i ]
%) —
[a} b—
< =
@ R R
s 1
o TR
—
§6 |j==r05005095555000000aP505959555565000000500TBIE536500000050550959IH03000R0OE0050959556030ADADICID00IEI5503000009MRO00IEI550300000900000IRIS563C
I S LT LT PP PP PP PP PP PP PP
L e P PP PR PP
—
—

APV channel

120
h—

RMS (ADC-ped)

100
80 |
60 [
40 .

20 f

[ ADC RMS for RDO=1,ARM=4,APV=21 "}

RMS (ADC-ped)

i
120
APV channel




run_13056026 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Sat Feb 25 08:16:09 2012

[ADC for FGT RDO=2,ARM=0,APV=0 }

ADC-ped

3000 4000
raw ADC

[ 1000 2000

[ADC for FGT RDO=2,ARM=0,APV=1 }

ADC-ped

; 5
3000 4000
raw ADC

1 1
1000 2000

[ADC for FGT RDO=2,ARM=0,APV=2 }

ADC-ped

1
3000 40(
raw ADC

1 1
1000 2000

S}

[ADC for FGT RDO=2,ARM=0,APV=3 }

ADC-ped

4000

3000
raw ADC

1000 2000

ADC for FGT RDO=2,ARM=0,APV=4 l

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=0_}

= 4000 p—
] =
& =
Q 3500 f—
< =
3000 P=—
=
2500 =
=
2000 =
=
1500 =
1000 =
=
=
500 =
=
=
0=
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=1 "}
= 4000
2 0 0 0 0 g
T
14} N 1 (R 1 R P
8 3500
<

3000

2500

2000

1500

1000

500

0

il rq‘nn|r|1|[|1|r|1|r|]|r|1|r|1r[|1 II‘|1HI

" 1
2 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=2 "}

= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 F=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=3 }
= 4000 p—
] = . . .
e = .
Q 3500
<

3000

2500

2000

1500

1000

500

0

© TR AT TR AT

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=4 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel




run_13056026 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sat Feb 25 08:17:21 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13056026 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
Sat Feb 25 08:17:55 2012

[CADC RMS for RDO=2,ARM=0,APV=0_ J

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=1 "}

60

50

RMS (ADC-ped)

40

30

20

10

AT HII—I—H—I—I—]‘1

" " " " " " " " " 1 " " " 1
40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=2 "}

g o S
3 e
Q b—
o -
< 60 H
@ H
2 u
&= s0 [

=

40

30

10

0

—
20 fm—

=

=

=

0

i i i i
20 40 60 80 100 120
APV channel

[CADC RMS for RDO=2,ARM=0,APV=3__}

70 E

60

RMS (ADC-ped)

50

40

30

20

10

i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=4 "}

70 b

60

RMS (ADC-ped)

50 £
40
30 fF
20

10

0

20 40 60 80 100 120
APV channel




run_13056026 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Sat Feb 25 08:16:12 2012

[ADC for FGT RDO=2,ARM=0,APV=5 } [ ADC for FGT RDO=2,ARM=0,APV=5 |
o = 4000
3 5]
5 S
Q
9 Q 3500
< < 1
3000
2500
10
2000 X
10°
1500
1000
500
10?
0
0 1000 2000 3000 4000
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=6 } ADC for FGT RDO
L - 4000 p—
3 5] = . . . . . .
= = =
%) I9) =
9 9 3500 =
< < = 1
3000 f=—
2500 fm—
2000 fm/——
= 10"
1500 f=—
=
1000 P=—
=
500 fm— )
= 10
0=
i e E_. . . i . . . i . . . i . . i . . . i . . . i .
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=7 } [ ADC for FGT RDO=2,ARM=0,APV=7 }
L - 4000 p—=
3 g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < = 1
3000 f=—
2 2 2 =
2500 =
=
2000 f=——
= 10"
1500 f=——
1000 fP=——
=
500 f=— -
= 10?
==
i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=8 } [ ADC for FGT RDO=2,ARM=0,APV=8 |
= [T = 4000 p—
3 5] = . . .
2 - - 2 = : :
Q f..t... Q 3500 F=—
< < =
oo |ooce0 3000 [=— a
- 2500 =
2000 f=—
=
= a
1500 f=— 10
1000 f=——
=
500 f[=—
= 2
0 f— 10
=
= b=
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=0,APV=9 §
o o =
3 ] = . . . . . .
[ & =
Q Q —_ -
9 9 3500 =
< < — 1
3000 f=—— - |
=
W 2500 f=— - -
=
2000 = - -
= 10"
1500 = - -|
=
1000 p=— - -
=
500 f=— - - )
= 10
o E—--
- E_. . . i . . . i . . . i . . . i . . . i . . . i .
3000 4000 0 20 40 60 80 100 120

raw ADC APV channel




run_13056026 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sat Feb 25 08:17:22 2012

[ADC MPV for RDO=2,ARM=0,APV=5__}

MPV (ADC-ped)

[ i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=6 }

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+

i
120
APV channel

-500

[ ADC MPV for RDO=2,ARM=0,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=0,APV=9 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13056026 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
Sat Feb 25 08:17:56 2012

[CADC RMS for RDO=2,ARM=0,APV=5__}

H =
Y %
=] =
< 80 [
@ =
z 70 H
60 §
50 3
:
30 E -
20 E g
0 [ :
o H i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=6 }
3 60
g
[}
o
& 50 |-
(2]
=
o
40
30
20 [
10
0
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=7 }
g 0 =
2
o
2 60 [
= o
=
x 50
40
30 [
20
10
o I i
120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=8 }
= —
& =
4} 70 f/—
[=] —
g =N
o 60
= =
& =
50
o =t 1 e e e e e e e A
L R R TP P R B EEEET ¥ EREPRL R Rt At S T AR PR 3 R B S ¥ PR K F B AR P [ N PR N S A AR B B 2 1 B B AR () I
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=9 "}
=
g
[}
o
<3
(2]
=
o

i
120
APV channel
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run_13056026 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Sat Feb 25 08:16:53 2012

ADC for FGT RDO=2,ARM=3,APV=17 _§

[[ADC for FGT RDO=2,ARM=3,APV=17_}

ADC-ped

1000

2000

3000 4000
raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R A A

APV channel

ADC for FGT RDO=2,ARM=3,APV=18 _§

[ ADC for FGT RDO=2,ARM=3,APV=18 }

ADC-ped

St
3000 4000
raw ADC

1000

2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3,APV=20

ADC-ped

1000

2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3 APV=21

3000 4000
raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=19 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

20 40 60 80 100 120
APV channel

[[ADC for FGT

Py
]

0=2,ARM=3,APV=20_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel



run_13056026 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4CD
Sat Feb 25 08:17:34 2012
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